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Mensuration – 2D 
 

 

➢ Circle :→ 

 

Sector 

 

⇒ 𝜃 =
𝑙

𝑟
 
→ length of arc AB
→ radius

↓
always in Radian

 

IC =
180°

π
 

πC = 180° 

I° =
πC

180
 

   

 → Area of sector OAB = πr2
θ

360°
 

       → Perimeter of sector = πr
θ

180°
+ 2r 
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        Segment 

 

 

→ Area = area of sector OACB – area of ∆OAC 

 = πr2 θ

360°
−

1

2
r2 sin θ 

            → Perimeter = length of ARC ACB + Chord length AB 

    = (2πr)
θ

360°
+ 2π sin (

θ

2
) 

                                                          → AB = 2r sin 
θ

2
 

 

➢  

 

𝑟 =
R
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